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��# 6�7� 1L	
� B'�DEJ
=�R S  �$"��R ���� 1�'��TK �E
�� ���� Q����
U�3
3G���� 1���VW� XAY �3�������  

�(   1�'��TK J? 1�
� 6�7� 1L	# XAY �3
3G���� 1���VW� XAY <������� ��&���� ���� Z!S ���[
6�? 1L	
��#B/'�DE  

�����  

1   1�R
A!�� 5�@!�"�S \G��
�� �]A�� -1!"�# ������� ���� ���[ ������� .  
  
  

����! "1  

1  ����� ��	
�  

3 ���
�� ������ ^!3 <
3G�� %�!V _]�)��3���� F` (������� �Va� b�
� G
T
S 
cA� . Fd�3 ������� �VaR J? �.#
Va� <G
@!�� b�
��� e
" ��$�Y�� - fgah3 � 1��[� Q>!R i2E /%�2���� jR k�"�"?��������  . J
�3 f�
�Y# '��*��

��"�
S l�Y ^!h3# <G
@!�� <
���� - k��@D�R �R ���� 
�Y:  
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n��:  
  ρ:   %�!&�� F�R '��*� ��8 9:�  
  n:  <
0� ������� �VaR  

  dn/dh:  ������� �Va� <G
@!�� b�
���  
  h:  6�7� o�" �
E ������ %�2���  
  ϕ:  F�R �3#�4<
���� jR %�!&�� �>��� 
�8 ������ 
�Y i�E7� .  

h36�7� o�" 
* k�pT
R q�!�� J
�3 �R
�Y rT
R l�? XAY �!V7� '��*� G
] . GG���� XAY k��A@Y \�=�>�� qf= 98
�� �#
�T
�� 5
� <#��� �E��R XAY �@pR ��2��S Fd�3 � �Va�� b�
� J�s �,K q
�#.  

2  ����
�� ���� ��� ���  

K? F��� J�s �, J
�� /k�$3��� k���Eϕ �2	 tR �$3�8 . J? �. /t��#n  tR k�
T �$3�81 ��G�!�� JuE /(1) M���� 
]��� XAY O�$h�:  

 

1

ρ
= − d

d

n

h
  (2) 

�\���G v�
8? J
�� 1�F��� JuE /k��S�� <G
@!�� b�
��� J�s �,K l�? ow�
�� t@E +�f.  
��S �3�����L� x��0� �p>�� J�s �,K# t�y /%�!&�� F�R 5
� XAY zS�� �3������� b�
� <? /k���g %�2���� {K G���"

k�@����R ��&���� ��$�Y�S o@�3 5
N |#
� . 5�!E ��8 9:� 1�, ��w���E� 6�? �"��G 5
]��� ;�&3#Re = k a k�^!R /
��"�
S l�Y:  

 

e
Rh

n

aka

1

d

d11 =+=  (3) 

 n��a��[� 6�7� ��8 9:� XAY 5
�  n��# /i�k 5�!2�� 6�7� ��8 9:� ;R�Y 
= ) ;R�Yk .( 5
]��� �f= jR#
%�2���� �3#�4 tY 5}!. ���g %�!&�� 1����R J
�� /i"
�~�.  

k���E? F��� J�s �,K �K k��S�� �3������� b�
� J
�3 � /�8
�� tR ^s? �T�
S# . b,
@��� ;�y J? t�y iA@!�� j8�
�� -#
� �p>@A� i"7� i�"
�� ������� �Va� x��0) Q8� ��	
��� �>��ITU-R P.453 ( B tY ;�� ��� 1�Y�2��L� �$����S 

1 000 ��R  Bi�g b,
� �3�� tY x3��� ;�&S  . ;R�!�� J
�3#k 
= ;S���� k = 4/3.  

3  ������ ������� ����  

S ;@!��h3 /%�!&�� Q�"�� �� �@�E kL�R /1���$���� Z!$� �$�����EC�!R ������ \
�# #? 5
!R ������ �VaR  ��	
��� -
ITU-R P.310 . ������� \
�# X�!h�#M ��"�
S:  

 

a

h
NM +=  (4) 

 n��h # ���R7�S l�Y k�^!R ���!�� ������ %�2���a 1���R
A���� ���S l�Y k�^!R 6�7� ��8 9:� . ;3
]��� �f= o@�3#
 ��&���� {K %
T���S�=
A!3 ���$�R 6�? o�" �
E  ������� \
�# l�E �p�3������ 5G�!� 
TM.  
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4  ������ !�"��� #�$ �%�&�'�� �%��(�� ��)� �%*�+  

1.4  �����  

J�$�[� - <
0� ������� fg�� ����DE ��� �3�=�>�� %�2���� �3#�4 Q���� <�#�D�� tR /Q"����� 1�"��G - . X�!h�#
� ��3�� iA3 �@�E�$"��R ���.  

2.4  ����	
�� �
�� ����  

s \��2�� - �
	
R 
= �@1 6�7� o�" XAY ��� tR �A"�R �3
3G�� �R}� JuE /qLY? ) %�2���(km) h  �3#�4#
%�2��� θ) 1�T�
��S ((<
0� ������� ��7 k��>� 6�7� 
* �]h� . /������� o�]:� Q���� t�y#τ) 1�T�
��S( /

;R����� ��"�
SM���� :  

 

( )
( )∫

∞

ϕ⋅
−=τ

h

x
xn

x'n
d

tan
  (5) 

� G
N n�ϕ  ;��" J
��8 v�"? XAY M���� 
]��� XAY(Snell)��$�8 1����
�uS :  

 ( ) ( )cos ϕ =
+ ⋅

c

r x n x

  (6) 

 ( ) ( )c r h n h= + ⋅ ⋅ cos θ  (7) 

  r:   6�7� ��8 9:�(km 6 370)  
  x:   %�2����(km).  

#.� XAY F$s 
� {K 98
�3 %�!&�� '��*� J? �G7� '}0� ��"�
S G
�� '}0� 
0 ������� �VaR ���� t�y /
cA� 
 %�2��� 
�Y i��x ������� 1LR�!�� tR k�8L���:  

 ( ) ( )n x a bx= + ⋅ −1 exp  (8) 

n��:  
  = a  0,000315  
  = b  0,1361.  

#3 ��	
��� - ��!�� iC"7� <
0� b,
@��� XAY b,
@��� �f= �
�ITU-R P.453 � ��&���6�7 . JuE +�, {K �E�wK#
n′(x) tR ���&R n(x)/ <? n′(x) = -a b exp (-bx).  
 
8# Q���� �τ (h, θ)) 1�T�
��S (k�
�T k�$3��� i�!� ������� ��@8��� �d�:�� J? #
$3# Ui!T��� 
0� 6���E�S:  

(9) τ (h, θ) = 1/[1.314 + 0.6437 θ  + 0.02869 θ2 + h (0.2305 + 0.09428 θ + 0.01096 θ2) + 0.008583 h2] 

#� ;T? tR r3����� �f= XAY 5
:[� (0 ≤ h ≤ 3 km) #(θm ≤ θ ≤ 10°)/ n�� θm/ �=
�Y O�E 6��!h� ��� �3#�}�� 
��"�
S X�!h�# /6�7� o�" ��"�
S �3
3G���� �R}[�:  

 

( )
( )⎟⎟⎠
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⎜⎜
⎝

⎛
⋅

+
−=θ

hn

n

hr

r

m

0
cosarc  (10) 

? /r3�����S /#h θm = −0,875) 1�T�
��S.(  
�� i�!�# ��G�!)9(s ;T? tR k�
�!R k�$3��� +�f)01°> θ° >0 9°(.  
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#� t��θ0) 1�T�
��S ( t���# �[� '�D2�� - ��&���� �#�� - ����DE ��� %�2��� �3#�4 i=θm  ���
�� %�2���� �3#�4
�3
3G���� �p�R}[ 6�7� o�" �p�E 6��!3 � 6�7� o�" 
�Y ��� .;S���� ������� o�]:� 
� J
�3#  �@���θm  
=

τ (h, θm) .� �fS#  ����D2�� ���� J
��k�]�]	 M���� <#����� �
Y J
�3 �R
�Y �K ����R:  
 ( )θ τ θ θ

m m
h− ≤, 0  (11) 

3.4  �������	 
���
�	 ���	� �����  

Y <#����� �
Y J
�3 �R
�(11)  /�3�=�>�� %�2���� �3#�4 ���� t�y /k�]�]	θ) 1�T�
��S(�� fg�� ��� / �����
������� ��G�!�� ;� jR /��$�Y�� - <
0�:  

 ( )θ τ θ θ− =h, 0  (12) 

 ��G�!�� ;� J
�3#(12)iA3 �@s :  
 ( )θ θ τ θ= +0 0s

h,  (13) 

� Q�8 n�τs (h, θ0)  Q��S �p�$Vτ (h, θ)/ �@��� ���
s �p�Y ^!h3 t�� θ0.  
 ���
A� k�
�T k�$3��� ������� ��@8��� �d�:�� i�!�#τs (h, θ0)) 1�T�
��S:(  

τ
s
 (h, θ0)  =  1/[1.728  +  0.5411 θ0  +  0.03723 θ0

2
  +  h (0.1815  +  0.06272 θ0   

(14) +  0.01380 θ0

2
)  +  h2 (0.01727  +  0.008288 θ0)]  

 �@�8#θ  ��G�!�� ��"�
S �S
���(13) �3�=�>�� %�2���� �3#�4 i=.  

4.4 �����	 ������ ����  

����� �1 : ��"�
S �p��K ��&h3 �[� '�D2�� - ��&���� �#�� - ����DE ��� %�2��� �3#�4θ0.  
�� ����2 : ���G�!�� 5�@!�"�S(9) #(10)/ <#����� �
Y J�s �,K �R �]2�� (11) k�]�]	 . JuE /+�fs �R7� t�3 � �,K#

�g� ���� <? \�#�w �
Y +�, tY ���3# k����R ��� ;�����.  
���� ��3 : <#����� �
Y J�s �,K(11)  r�]h� /k�]�]	θ  ���G�!�� ��"�
S(13) #(14).  

5.4  ����!�	 ����"	�������	 #�#���	 ���	$�   

3 5#
0� �
�1lAR��S 
0� ^Y ��&��L� <#�}�� ���*L� ��"
�R k�@�8  . �p�AY ;:�� ��$3�c��� 1���!@A� k�:�PA� i�!3#
�G���� 1����� ��"�
S�<
3G�� �
��A� %�!VK v���R ��"�
S#  .�Fd��� r$�S �3�=�>�� %�2���� �3#�}� 1�$A�� ��L�# 1

������� �VaR ���$� ��A��.  
 5#
�0�1  

������ �	
 �� 
������ ��
��
 �
���
 ���  

� ������	
 ��

θ � �����
 �

��
 �
��	
 ����Δθ) ��������(  

)��������(  !"# ���# $
�%  &��'� ���# $
�%  $
�% &��'� ��*  +,
���
 ��* $
�%  
  1  0,45  -  -  0,65  
  2  0,32  0,36  0,38  0,47  
  4  0,21  0,25  0,26  0,27  
10  0,10  0,11  0,12  0,14  
20    0,05  0,06    
30    0,03  0,04   

   . �/��/�
 �
01��
Δθ)  2�3�4'5�1
 4�67 (  
  1  0,1       8/����
 ����� �9�   
10  0,0078/����
 ����� �9�      
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5  ��� � ����� 	
��
� ������ ������ ������  

8 �3#�4# <
0� ������� 1�Fd� tY �I���� i��
~� �R}� ���D� #? 
3
� tY k�D3? 1���VW� �3
" - 1�Fd��� ���� 

%�2���� . �
E %�2���� �3�#}S �A!�3 �@�E ����� qf= 5��K id$�3#º3.  

�� tY �I���� �p$�s #? \��VW� \���g ���� - q��G? ���$�� ��G�!�� �
P���#iA��� 
0� ^Y �� �T
�� - ������� ��:  
)log(10 Bb ±=  

n��:  

( )

( )
2

0008288.001727.0
22

0
0138.0006272.01815.0

2

0
03723.005411.0728.1

08288.0
2

00276.006272.0007446.05411.0
1

⎥⎦

⎤
⎢⎣

⎡ θ++⎟
⎠
⎞⎜

⎝
⎛ θ+θ++θ+θ+

+θ++θ+
−=

hh

hh
B  

  θ0:   1�T�
��S \�
�R /5�$��"��# 5�"�W� ���� �S ;	�
�� O�� %�2��� �3#�4)θ0 > º10(  
  h:   1���R
A����S k��
�R /�]$�� o�" e
��R tY ���� �G? %�2���)h > km 3(  
  b:   /�[� '�D2�� - ��&���� �#�� {K k�$�� 
0� - \���� �T
��S �A!�3 �@�E \��VW� �3
" - F�d�

;$�3
��S k��
�R  
     �@��S �	��� ��G�!�� - �RL!�� J
��"b �$��" "B " o�" ��8 j8�
�� 5�"�W� �
:. �A!�3 �@�E

 �$T
R# /6�7� "+"� b��g j8�
�� �
:��S �A!�3 �@�E
0� O�.  

6  ������� �
���� �������� �!�� ��"  

. tR XAY? <F2"
S#���� ������� �VaR J? �1� F��� 5
� JuE /%�2���� XAY 98
�3# � 6�7� �S �&��� �T
� <
3G��
i"
�~� F��� 5
� tR ^s? J
�3 �R ;��"# .M���� ;R����� ��"�
S 5
��� ���E X�!h3#:  

 ∫ −=Δ
B

A

snL d)1(  (15) 

n��:  
  s:  F��� e
R XAY 5
���  
  n:  ������� �VaR  

  A# B:  F��� �E��.  
 ��G�!�� 5�@!�"� t�y �#(15)  ������� �VaR Fd� J�s �,K �Kn k�E#�!R F��� 5
� XAY.  

Y \���[� �T�G J
�� �R
�T  <
0� OdD��#P  ��$���� �S
����#H �!R 6�7� �3
" 
�Y#�uE /�E 5
� ���E r�* ��
 F���ΔL  ^��� ��"�
S �p�AY ;:�� 1���]��� tR k�8L��� z!�wh# ���# /iA3 �@�E �p�Y ^!�� ��$3�c��� l$V ��3���� r��

 - z3�T�? 
��# ��Y 1�"��8 �A� 5Lg <
0� <
3G����500 - �3
T G�	�? ��� 1979 . \��$!�� J
�� /��3���� qf= -
!�����2� �R F��� 5
� �ΔL i=:  

 ),(
)cot1(sin

02/1
0

2
0

V
V

L

k

L
L Δϕδ+

ϕ++ϕ
Δ=Δ  (16) 
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n��:  
  0ϕ:  
	��� ���� 
�Y %�2���� �3#�4  
  ΔLV:  <G
@!�� F��� 5
� ���E  

  k #δ (ϕ0, ΔLV):  iC"�7� <
0� b,
@��� ����[ ;@!��h3 ��� ��]�]:��� 1�@A!��.  

 ;R�!�� fg�3#k � XAY %�2���� �3#�4 Fd� J�$�[� -
�� 5F� . 
[� ^!3#δ (ϕ0, ΔLV)  ������� ���� tY) ��� F���
k�@����R k��g .( 
=# U���[� - ;@ph3# k�
T �D2P��� %�2���� �3#�4 
�Y �
Y �R /k�
T k�Fd	 k�@��G 
[� �f= J
�3#

 ��g XAY <
��3cm 3,5  �3#�}� O�Eϕ0 1�,  °10#mm 0,1  �3#�}�ϕ0  tR°45 .��L�# � r��T tR �3�#4 
�Y l�? �g
 �@A!�� J
�� t� k�
T \Fd	 %�2���δ  ���� ����� ;s v�"? 
=# /1��$� - 
��R 
T 6���E� JuE /�A@pR �~ �$����S

k�]�]	 X�$3 � /F��� 5
� ���E.  
 <G
@!�� F��� 5
� ���E X�!h3(m)������� ��G�!�� ��"�
S :  

(17) ΔLV  =  0,00227 P +  f (T ) H 

- ��G�!�� tR ty7� ����� tR 5#7� 
[� (17)/ P  <
0� OdD�� i=(hPa) 
	��� ���� 
�Y.  
 /��$3�c��� �!�$��� <, ����� 
[� -H  ��$���� �S
���� i=(%)U \���[� �T�G ���G X�!h� f(T)/ j8
�� XAY 98
�� ��� 

0�������� ��G�!�� ��"�
S /-��d:  
(18) f (T )  =  a 10bT 

n��:  
  T   ��"�
S �p�Y ^!h3°C  
  a   ��"�
S �p�Y ^!h3m/% ��$���� �S
��A�  
  b   ��"�
S �p�Y ^!h3°C–1.  

 5#
0� - X�!h�#2 J��@A!�� a# b-��d0� j8
�� XAY J�28
�� J��A�� .  

 5#
�0�2  

�����  
a 

(m/%)  
b 

(°C–1)  

� ������ 	
��) �� 
�� ��� ��� ����� �� ���
km 10  ��
�����(  

4–10 × 5,5  2–10 × 2,91  

������� �� ����!"�� 	
��  4–10 × 6,5  2–10 × 2,73  

�#$%&� 	
��'� 
  4–10 × 7,3  2–10 × 2,35  

[ i]�]:��� ;R�!�� ���k  ��G�!@A�(16)/ %�2���S k��"? k�Fd� 6��2� h  �3
0� �3�����L�N:  
(19) N(h)  =  Ns exp (– h / h0) 

� n�Ns R i= 6�7� o�" 
�Y �3������� �@�8 ��"
�) ��	
��� �>��ITU-R P.453 (#h0 ��"�
S X�!h�:  

 

s

V

N

L
h

Δ= 6
0 10  (20) 
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 r�]h� �=
�Yk������� \��$!�� tR :  

 

2

0 )()(
1 ⎥

⎦

⎤
⎢
⎣

⎡
−=

o

ss

hrhn

rn
k  (21) 

� n�ns #n (h0) " 
�Y ������� �VaR ��@�8 ��� %�2���� 
�Y# 6�7� oh0) �"�
S \��!�� ��G�!�� �(20) ( /M�
��� XAY
#rs# r (h0) 6�7� }s�� J��AS���� J��E���� ��.  

 �$����S�6�? 1�F�@A B %�2��� �3#�4 jR ;��"θ  tR ^s?°10/ ����� tY ������ 5
��� ���E tY F$!��� t�y 
 �3F2"
S#����(m)  l�? XAY� %
@"��T 
� "#"r�� 
�:"  

 (m)     ( ) θ
⋅

⎭
⎬
⎫

⎩
⎨
⎧

⋅
+λ

+⋅=Δ+Δ=Δ −
sin

1

1
10

2
1

6

ms

s
s

m

d
wetdry

T

ek
pk

g

R
LLL  (22) 

n��:  
  ps �es:   6�7� o�" XAY '��� ��� Odw# '�
pA� ;R���� OdD��(hPa)  

  Tms:   o���� XAY '��� ��� \���� �T�G O"
�R(K)  
  λ:  ��P$�� Odw 6�2 � ;R�Y  
  Rd:  = R/Md (J/kg K) 287,0   

  R:   zS����iR��d�� i¡3}0� 4�dA� 8,314 =  (J/mol K)  
  Md:  �¡3}0� �A���� ��0� '�
pA� ��R��d�� �=  (g/mol) 28,9644  
  = k1  (K/hPa) 77,604  
  = k2  (K

2

/hPa) 377600   
  ( ) ( )( )

ssm
hlathlatgg ⋅−⋅⋅−⋅== 00028,02cos00266,01784,9, = ��S,�0� %���� (m/s

2

)  
    lat  :6�!�� Og) 1�T�
��S(  
    hs  : �]$�� o�" �
E J���� %�2���(km).  

O"
�R tR XAY? %�2��� XAY �!8�
�� 1L¢$���@A� �$����S# �]$�� e
��R (km) h o���� %�2��� tY 9A�£ hs t�y /
 /o���� Q�8 tR �3
0� G�	�7� 1�@A!R Q�8 '����"�Tms# es# ps������� 1�G�!�� ��
P�"� �3�� tY :  

 (m)     ( ) θ
⋅

⎭
⎬
⎫

⎩
⎨
⎧

⋅
+λ

+⋅=Δ+Δ=Δ −
sin

1

)(

)(

1
)(

)(
10)()()( 2

1
6

hT

hek
hpk

hg

R
hLhLhL

mm

d
wetdry  (23a) 

 K    )()(
smmsm
hhThT −⋅−= α  (23b) 

 hPa    ( ) α′
⎥
⎦

⎤
⎢
⎣

⎡ −α−= d

m

R

g

s

s
s

T

hh
php 1)(  (23c) 

 hPa    
1

)(
)(

+λ

⎥
⎦

⎤
⎢
⎣

⎡
⋅=

s

s

p

hp
ehe  (23d) 
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n��:  
  = αm   '��� ��� \���� �T�G O"
�R ¤
$= 5
!R(K/km).  

( ) ( ) ( )
⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡
⎥
⎦

⎤
⎢
⎣

⎡
−

′
+

′
+−

′
+≅

m

d

m

d

m

d

m

R

g

R

g

R

g αλλλα 4
11

1
1

5.0 = ����� ����	 
��� 
���� ���� ���� (K/km)  (23e)  

(23f) 
d

R′ = Rd /1 000 = 0,287          J/g K 

          K    
( ) m

d

ms
s

g

R

T
T

1
1

+λ
′α−

=  (23g) 

i¥
R rA��S }�@�� �3
0� G�	�7� 1�@A!R J�S 6���E�� 5Lg tR b,
@��� ;gG b��P�"� t�y#.  

 ( ) ( )
⎥
⎦

⎤
⎢
⎣

⎡ −
π−=

25,365

3
2cos21

iy
iiyi

aD
aaDX  (24) 

n��:  
  Xi:  ps /es /Tms /λ #? αm  
  a1i:  �@A!@A� ���"
�� �@����  
  a2i:  �@A!@A� i¥
�� rA����  
  a3i:  �@A!@A� ���
�� �@���� tR �
3  
  Dy:  
3 ����� tR �)1  ...365,25(    

= 1 1 /�3��3 = 32 1 /�3�^E = 60,25 1v��R .  
 1L�R�!�� z$�h� 
8#a1# a2# a3 �3
0� G�	�7� 1�@A!� �3�p&�� 1�'�:�W� jR i�E�
��� b,
@��� �R'�
R 5Lg tR 

 1���!�� \
Y�8 tR \,
g���ECMWF ERA15.  
i�E�
��� b,
@��� �f= 1�@A!R Q�8 
T
�# a1# a2# a3 {K �pY
@� ;:3 ��@8� O���g - �3
T G�	�? �@A!R ;�� 15 

 �@��S ���$�"� jR ��3�g1,5 × 1,5) 1�T�
��S .( X@�� 1�¦2AR - i�E�
��� b,
@��� 1L�R�!R 
T
�#
<met_param>_<mod_par>.dat n�� /<met_param> i= press#?  vapr#?  tmpm#?  lamd #? alfm ;T? tR 

ps ?# es ?# Tms ?# λ#?  mα# /M�
��� XAY <mod_par> i= a1 #? a2 #? a3 . tR i= 1���!��#0 {K 360 k����
� 
 tR#90+ {K B90 �@��S ���$�"� jR k����w�Y °1,5'�
" 
� XAY k����w�Y# k����
�  . b,
@��� �f= - �}A� ��� 1�E�wW�#

i= := lat.dat ��!T��� 6�!�� Og Q�8 (90− ... 90) #= long.dat  ��!T��� 5
��� Og Q�8(360 ... 0)# = hreflev.dat 
�]$�� e
��. ;:�3 �@�E i!T��� e
���� %�2��� O"
�R (m).  

 5�@��"� '�G? �3�� tY F��� 5
� - \G�3}�� r�N J? r§ ��$&�� ¤��� tY 9A�£ j8
R - G̈
T
R ©;$���� �$����S#
�� F�R 5
�� O�� i����;¢$����� %�2��� �2� ��
P�"� 5Lg tR \�C
���# k�S�8 ��s7� jS�7� ��$&�� ¤��� 
�Y \G�3}.  

 j8�
�� 
3
]�� i��!�� ��>��� 1�"��8# <
3G���� ��$��� ��
P�"� �3�� tY ª����� b,
@��� �8G 1^�g� 
8#(GPS) z��s# 
 t@w l�? �c�����2# 6 ��!�� ���� XAY 1���@��" . �,K# ��A� 1�"��8 ��
P�"� t�y l�uE /^s? �8G {K �T�� «��= z��s

b,
@�A� ;g
@s '��� ��� Odw# '�
pA� ;R���� OdDA� ��E�
�R.  
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&��� ;�1  
����	
 �	�
	 ���� � ������ ������ �� ���� ������ ���! "#�	$ %&��' (���)! (��*	��  

  

0834-01
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L
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u
d
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(d
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)

Longitude (degrees)

L
at
it
u
d
e 
(d
eg
re
es
)

Note 1 – The Matlab procedures that implement the model described by equations (22) to (24) dataset
are available from the ITU-R website dealing with Radiocommunication Study Group 3.

Excess
path length

(m)

15�����  

15�����  

	�
�� �
)��������(  

	�
�� �
)��������(  

 �
��

�� 
�

�
)

	

�

�

�
�

(
  

 �
��

�� 
�

�
)

	

�

�

�
�

(
  

  ������1 ��������� ����� Maltab �� ������� ���
�� �!�"# $%&� '*�� +,�"��� -.! /0
�� 1�� (22) 23 (24)4 
 56������� ���&��� 7�
6���8����� ��9 	�"!:� ;��� <=��>��� ���3��������� ���&�?� . 

 AB�� 	�C
 �D�E��

)����F��(  
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7  �� �����	
����
   

= tR �d	? ���!R j8
R# %�2��� 
�Y �3�����L� <G
@!�� b�
��� J�s �@As ©��� «��N/km 157−.  
Kg /<G�Y F` k�3
3G�� k���&��� r$�3 J? t�y l�7 QpR <��¬� G
T# J�6�? 1L	# #? 6�? 1L	# XAY �	B '�DE

k�
T �2�!w %�2��� �3#�4 jR .­� o@�� ���� <��¬� ;�&� k�
�!S ��&����S i2�3 �. ����Y 1�GG�� 1�, �3
3G���� 1���V
 e�g? 1�R
g jR ;g�
��� ��g ® tR# /�3G�!�� �:$�� Og �E��R '��# �R k�
T) ��	
��� �>��ITU-R P.452 .( i=#

 r!A�E \G
!�R 1�F�R ^Y ;g�
��� �=�
� - k�@pR k��#G +�, �
Y �@�) ��	
��� �>��ITU-R P.530 (
�# �=G
T# J�s 
� ���!R �A	# XAY \G
!�R 1�F�R ^Y ��&���� �=�
� �>�L� �̈�s F` #? i2�3.  

1.7  ������� 	
��� 
���  

Y$� <, <
3G�� e�� ;g�G j�3 5�"�K i��
= J
�3 �R
�� k�
T �2�!w %�2��� �3�#4 
�Y �A"��� �!V7� JuE /���E? 1�
 J? t�y"�$]h� "e�¬� ;g�G .[� - <������ x��T �p>� ���$�� ���"<G�Y " ������ b�
� <, i]�" e�� �
E

 �T�[� %�2���� �3#�4 JuE /zS��α (rad) ��G�!�� ��"�
S X�!h� /�!V7� �$]h� i��:  

 h
h

M Δ×=α −

d

d
102

6  (25) 

� n�dM/dh  ��C
!�� �3�����L� <G
@!�� b�
��� i=⎟
⎠

⎞
⎜
⎝

⎛ < 0
d

d

h

M #Δh i= \#�, %�2��� ;S��3 <f�� e�¬� +@h" 
5�"�W� i��
= �
E e�¬�.  

 ;�&�� i�!32 i�� e
:��� %�2���� �3#�4 "�$]h� "e�¬� - �!V? . �3#�4 j2���#"�$[� "�#�R jR �Y��S e
:��� 
 zN �3������� 1�T�
�N/km 157−) Fd��� 1�
!R j2��� �R
�Y <? (e�¬� +¥ 
3}3 �R
�Y #?.  

2.7   ���� ���"�����"  

K ��&��� «��= J
�3 n�¯ e�¬� - ����!2S J���h�" �8���� J? \�#�D��S _!3 � /
�T j8
R - J�s JK# /e�� G
T# J
�A3
� 1�E��R XAY .� iY��3 J? \�#�w {K �E�wK#� �@�8 tR XAY? J
�3 J? r§ l�uE /e
:��� %�2���� �3#�4 �T
�� GG
"�
S \G
� �T���3�����L� x��0� �p>��# e�c@A� <G��� �@!�� �� . «��= J
�� �$]A� �G7� GG���� �f= zN#

1�S���\
3�}�R e�¬� G#
� ^Y �8��A� .  
R
R �$]h� i�� �G7� GG���� Q���� t�@�� tT�
�A� ;R��� 5�@!�"�S <F2"
S#�� e�� - � . ;�&�� �$3#3 GG�� 

]�" ��¬ �G7� �$[� ��)�A:��� 1���]��� ( zS�� �3������ b�
� J? 6���E� Q�3 n��)r��" ( {K o���� tR 
�y
 x��T �p>R jR /�!R %�2���"<���!R "%�2���� �f= �
E . 6�7� �@>�? jR �A@!���� 1�GG��A� �$����S) �S �
@!�� XAY

8# GHz 16( M�
� �S �G? +¥ e�c@A� J
�3 J? r§ /5# m 15 # /�G7� �$[� GG��fmin/ +@h" XAY k�F�s 98
�3 
������� �VaR b�
�# e�¬�.  

# i�g x��T �p>. ��A!��� ����$�� ���]A� �$����S °� /e�g? �@A!R ��$�Y�� - ;g
� /�Y
E��� <��¬� ���� -
�3�����L� . ��$�Y�� - �@A!�� qf= fg��V������ �Va� x��0� �p>�� ;�e�¬� b�
� zN � . - �!����� 1���]��� 5
�

 ;�&��3 ;�3 � �3���!R �3������ b�
� 1�, ��]�" ��$� �
E j�3 zS�� b�
� <, e�¬ �G7� �$[� GG�� XAY   
 tYBN/km 40.  
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&��� ;�2  
�+,�- �	���.�� /�0! 1� �2*& ��3 4526� ��78�� �	
�9�  

�	
�: ;�< =�>  

  

�
A��� �G7� 
[� tR O��S �
�S XAY? Fd� 1�
!R �~ 1��$�� �$����S#  �$[� GG�� J
�3 /e�¬� ^Y ��&��� G
T
�
i]�" e�� ���� - ��L�� GG���� tR XAY? j8�
�� - �G7� . «��= J
�3 °�# /k�
T �@pR e�� 1�T�
�� �$����S#


S � /%
E��� e�¬� - �$�GG�� <7 �$����S ±E��R b�
�� i]���� e�¬� - 5�[� 
= �² F��S ��? ��$� tR .  

0834-02

 G�H� �I�Jm 100 =

 �
��

� �
��

� �
	


��
(m

ra
d
)

 �
	


��
�

��
� �

��
�

) 
�


�
��

�
�
(

��8�>�K�� +���(N/km)
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&��� ;�3  
�	�� �	�	#�� ��? � 4526� @#A� ##����  

��,�B�� �	���.�C� D���0��  
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